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2. Find the grea of each parallelogram.
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6. Use the given area to find the base or the height of each parallelogram.

a) Area = 60 n@ b) Area =6m c) Area =30 o,
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10. Take It Further A restaurant owner built a patio
in front of his store to attract more customers. A
a) What is the area of the patio? '
b) What is the total area of the patio and gardens?
¢) How can you find the area of the gardens?
Show your work.
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When we draw a diagonal in a parallelogram,
we make 2 congruent triangles.

Congruent triangles have the same area.

The area of the two congruent triangles is
equal to the area of the parallelogram.

So, the area of one triangle is 1 the area of the parallelogram.
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6 cm
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. Example

Find the area of each triangle.

;o a) For an obtuse triangle,
the height might be drawn

outside the triangle.

b
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